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In the following question the parts of a
sentence namely P, Q, R, and S are jumbled.
Choose the correct order of these to make a
grammatically correct and  meaningful
sentence from the given options-

P- My mother on her 40” birthday
)= are planning to throw
R- my brother and |

5~ asurpnse party for
(a) PQSR (b} SROQP
(c) RSQP (dy ROSP

: (d) RQSP- (R) My brother and I (Q) are|
plamlmg to throw {5) a surprise party for (P) My mother
‘on her 40™ birthday.
27. In the following question the parts of a
sentence namely P, ), R, and S are jumbled.
Choose the correct order of these to make a

26.

grammatically correct and meaningful
sentence from the given options-

P- dirty feel

Q- don't put

R- on the table

S- your

(a) QSFR (b) QRSP

(c) RQSP (d) SPRQ

9% | [Ans - (a) QSPR= (Q) Do not put (S) your (F) dirty feel

=, mmmmmilmmmm—““m“ﬂ.cmm

lhlﬁf'r the underlined part of the sentence
which is not grl[llntlﬂlh' correct.

%7, w3 7 F9 W)
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|| 29,

(a) Remember (by to switch off

ic) your mobile phone (d) at the movie hall
'A.ns (d) 59 T T T@EA 9 }uurmuhlcphuncm
|ﬂm movie hall & Preposition ‘at’ ¥ v 794 Fem v
tlmm“rﬂ et ft = m o= F o B
‘Room, office or cinema hall & a:l-—ﬂaqﬁmmaaﬁmf
Fmpusmunmﬂﬂmmm!'t : T at F =R
" in )
Identifv the wnderlined part of the senience
which is not grammatically correct.

W r W W S0 W

to go for a walk.
(a) The weather (b} was very pleasant

(c) sowe deciding (d} to go for a walk
:r..-\.m:{c}Su“E decidinga-: [ T So we decided W
M BT FE T P Verb ¥ Past form ¥
STETEEAT 21 Gerund T Participle 31 71
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30. Choose the best symonym for the inllmnn;

Sometimes these birds become great talkers or rather

word Assist | imitators, and would leam to recite mantras (religious
{a) Aid {b) Pay chants) or scoldings to the children of the house, such as
{c) Siari {d) Fight | "Parho beta, Parho.” (Study child, study.) Or for the

| benefit of boys like me, "Don't be greedy. don't be

Ans : (a) Assist (v) — Tergql =440, Aos F0
Aid (v) — HRTEAl S, 525 441
o IO 3 WA Aid 20

Fight — 958 31
Start — ¥[F =1
Pay — - 411 |
31.  Chose the best synonym for the following w-rdl
Expensive
{a) Heavy {b) Easy
(c) Difficul {d) Costly

Ans : (d) Expensive (adj) — 52, Frodt

Costly (adj) — 5%, Frh

¥A: Expensive F1 762 50AMl 72 Costly #11
Heavy (adj) — 97, E e

Difficult (adj) - F37, T

|Easy (ad)) — 3, 77

3. Choose the best antomyvm for the following
word, Common '
{a} Good {b) Easy
{c) Rare (d)

Painful |
Ans : (¢) Common (adj)}—T91, 39H T I &4 360
Rare (adj) — 3519, W=
#A: Common F1 519 ¥ Rare 2771 .
33.  Choose the best antonym for the !o[hwingi
word, Purchase |
{a) Spend {b) Have
{c) Sell {d) Buy I
Ans : (c) Purchase (v) — &% |
Sell (v) — T
3: Purchase 1 7 ¥ Sell #7M1
Spend — &= FAA1
Buy — &z
Have — U% T2/E% G, 99 & 20 .
Direction-Read the following passage and answer |
the associated questions. .
You are mo beauty! Can't talk, can't dance!” Willllé
these words, Aunt Ruby would tcasc the unfortunate |
parakect who stared sourly at cveryone from his |
omamental cage at one end of the long verandah of |
granny's bungalow in North India.
In those distant days, almost everyone, Indian or |
European, kept a pet parrot or parakeet or a lovebird, as |

some of the smaller ones were called.

|\l = o oW At 3 O e e 3 g

greedy.”

These expressions were, of course, picked up by the
parrot over a peniod of time, after many repelitions by
whichever member of the household had taken on the
task of teaching the bird 1o alk.

But our parrot refused to talk.

He'd been bought by Aunt Ruby from a bird-catcher
who had visited all the houses on our road, selling caged
birds ranging from colourful budgerigars 1o hapy little
mynas and even common sparrows that had been patted

| with paint and passed off as some rare species, Neither

granny nor grandfather were keen on keeping caged
birds as pets, but Aunt Ruby showed signs of throwing a
tantrum if she did not get her way and Aunt Ruby's
tantrums were dreadful to watch.

Anyway. she insisted on keeping the pamot and
teaching it to talk, But the bird took an instant dislike to
my aunt and resisted all the pleasant things she said.

3.  The parakeet was in a bad mood because:
{a) It was hungry.
{b) it did not like the cage.
{c) it was being teased by Aunt
{d) it did not like to dance
|Am:{cn‘m B mood # 4 FHifF 35 Aumt F 2R
B R
'ﬁ'm f&F79 (c) it was being teased by Aunt & frm
il {
35. Which word in the story means the same as
‘uncommon’?
{a) distant (b} rare
ic) instant (d} common

‘.ﬁm : (b) Uncommon — 3ei9, &4 e amen

Rare - Bkl
36. How did the bird catchers cheat people?
{a) by selling birds to them at high cost
(b) by running away with the birds after taking
money
by painting some common birds to make
them look rare
{d) by selling birds that were kept in cages
Ans : (c) 72 fafEw T3 S0 a & O 3@ A2

ic)

imﬁ Ft &1 T B (c) by painting some commond

‘birds to make them look rare & /1 77 21
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37. Aunt Ruby managed to get the pet bird
because :
(a) she convinced everyone that a bird would be |
good for the family
{b) she made the family give in to her desire of |
keeping a pet bird

(c) she showed the family that she could teach |
the parakeet bow to talk
{d) she begged everyone in the family for the |
bird
Ans : (b) Aunt Ruby U% e fafe @R & &% @
T s T =4 F 599 I WER ¥ 6w i S
#an W o 3% 9509 (b) She made the family
give in to her desire of keeping a pet bird. § #q7 fam
T &
38.  From the story we can make out that:
(a) both Aunt and the parakeet liked each other
{b) both Aunt and the parakeet disliked each
other
(c) Aunt did not care for the parakeet
{d) the parakeet disliked Aunt

ansz{ﬂjﬁmﬁmaﬁﬁmiﬁ@h"

Aunt Tl 9= T F4A 411

39.  Choose the best option to Gl in the blank.

The students found the questions quite |

casy.
(a) graemer {b) grammar
(c) grammer {d} garammr I

Ans : (b) The students found the gramuar questions I
quiie easy. |
frnffl 3 = (Grammar) w99 31 797 99
o

=

Choose the best option to fill in the blank.
The____ living in Indore have achieved great
success in their cleanliness drive.

(a) peepal (b) peeple

{c) people {d) peopal

Ams : (¢) The people Iiving in Indore have achieved

| great success in their cleanliness drive,

Eﬁﬂﬂmﬁmﬁrfﬂ&mﬁmmﬁmﬁm
[

e T )
Find the word/s that can substitute the
underlined words.
The of t_life is taught to all school
children in secondary classes.
(a) Zoology {b) Botany
(c) Biology idy Sociology

. Ans (b) The speech given by the chief guest
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Ans : (b) The study of plant life— 91 ¥ 3% =1 #9733
T8 799 F G ¥ T Botany (7 fage) w0 § @
fx fo T it M ¥ e ® @m B S
Izmlng}-—ﬂa’ﬁiﬂﬁﬁmﬁiiﬂhqaamq
;Biulugy saftd $ e W o (IER .
iaqmﬁrﬁrﬂ].smuhgy_mﬁmm
42, Find the word’s that cam substitute the
onderlined words.

| was unable to decide what to do when I found
twao equally dangerous animals in front of me:

(a) very unhappy (b} mnot confident
(c) in dilemma (dy quite excited
‘Ans : (¢) | was unable to decide what to do when |
\found two equally dangerous animals in front of me
iimmuﬁﬁ FEm W W # @ ouE w9 R
T T 3 A A T
ln dilemma — P 1 fiafay & &, wfE @
3: TEiEA 9 in dilemma T ¥4 =@
43. Choose the best option to fill in the blank.
I jumped over the wall and fell straight__ the
garden.
{a) writhin (b) to
(c) through (d) into
Ans : (d) T F 9% fema F R Preposition ‘into’ ®
s W E S
He jumped into the well.
#: 7 ™A W Preposition inte’ 31 33 e 3=mm
4. Choose the best option to fill in the blank.
The speech given_ the chief guest was liked

by one and all.
(a) on (b) by
{c) at id) which

e i ¥ g fe v e
3A: =e & B Preposition by F S &1
45. Choose the best option to fill in the blank.
To reach the market, go __ the bridge and
her left.
(@) over {b) through
(c) inio id) beiween
iAm:{l]TurcachihcumrkeLgug};g_rltmhridgeand
tumn left.
Pt o line, 78, T % 39 W § 38 W 9H 3 fog
|I"mpmiti-:m'nvcr’ﬂ€l!lﬁm 5w = 7 39 99 = T2
3 #m-

%mqﬁﬁ%mqﬁmﬂmmﬁ‘ﬂ:ml
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46. Choose the best option to fill in the blank. qm_:; « TTHT=T 37259
vou washed the apples before cutting
them 51. uw fateddm sgem "iIEE ... *
(a).mn (%) Haa oz mEsm s i
{c) Have idy Are
Ams : (e} Have you washed the apples before cutting| (@) ) ®)
them. ' (c) THU AT WA (d) TR
¥ S T e o e S R Ans : (c) P 9 SSRT SN SalE G|

T before 52 & T4 390 # 5 3@ I9T Perfed| E%WWQHm%lﬁmmmﬁﬁaﬁwﬂ?
tense & €1 foGs 0 Weras 641 Has'Have 311 81 | R A R, @ s ft g oA § 3w o

47. Choose the best option to fill in the blank. e § wEra @ W @) 39 aem @ ovwa = ol
Ramya says that ___ is very tired and rood's IAE WA w8 2
to rest for a while. FERET—
(a) she (b) her '

;I.ﬂimmﬁr

{c) the (dy 1 - i
4 2. 99§ U wEAE F 90

L&ns:ll}ﬁiﬁﬁﬁﬁmhﬁﬁﬁﬂﬁmﬁﬁﬁmé
lﬂﬁlsiﬁwﬁémﬁaﬂ!vm%qaém!

3, ®i9 § U TR = W

Iﬂbjctri\'ecme'ﬂ W = 21 they F 919 are 4. Frem # wifew 7= i
rl%mammﬁlm'ﬂrstﬁsﬁ%ﬁmﬁm 52 fea & 3 wEduE-2017 = e &0

(&1 7 B (a) 3 T E ar?

48.  Choose the best option to fill in the blank. (a) HierhA A5 TSl
The smow clad mountains looked than (b) WEFE IO gEAE
anyihing | had ever seen. (c) W ifsdm
(a) more beautiful (b) beautiful

d) TFESE fER
(c) most beautiful id) greatly beautiful {

[Am:ta}ﬂﬁthﬂn#ﬂﬂ"!flméﬁcum‘_enim:{ﬂmEUITH@HEHW@
|degree B WA #rW1 ‘imiﬂﬁmﬂmaﬁmmvﬁﬁwﬁ
| - HH 4 o5 2
'til?r: %4 (a) more beautiful i ™A W = | o a A 2017 & 2R TR A

| e . : .
| mAifas = 7 T AR 3 mEifaw e I
49.  Choose the hest option to fill in the blank. | |

My aunt lives on top floor of an old ﬁ:‘ﬂ ks

oy —= $3. 64 3 T feeaeer wEEn ¥ deE wEaw

i willi ® a Al & forn frment o man £

(c) the (d) an (a) e w3 (b)y T FE
|Ans : (c) of % Wed 3w A1 Noun ¥ T Article The, (c) =aw i (d) Ffew s
[ i e i 3 o P A R || e s e e 20T W
50. Choose the best option te fill in the blank. e ™ 7 e ve 3 o s R #@ aEEe

Today is greai day for me! | have received s A e dww 3 B sew 7 T s

Tjﬂ:mlumﬁ'] e el = TR fo o wEs wEeE oW
(c) an @) some TR AR W e 4§ fe e
Lrins : (a) Exclamation ¥Hh< F4 9 T4 7 arnticle &' | M- Frofefea = = 'uflﬂ |t Fﬁ*i!ﬂ ufem Fmre
l[ﬂmmﬁag =T | HeftE 37
I[Whﬂ-tﬂ“’ﬂﬂdtrﬁlipﬂ'ﬂiﬂ‘ﬂhﬂis! (a) TFF by &=
\a: i ™ T Article 'a' #EWI (c) TH (d) TEEET
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Ans: () wRETRT =
5 ufyam "me
LESD FAR
Lt TR
T ECo C
ss. ProfefEs # & fawsen & 29 & yaw &
Teafw e § g of?
(a) TR (b) ®IE
(c) T (d) e

Ans : (b) 1% FFman 3 3t U= d & 91 W
hﬂﬂmmaﬁmilﬂmﬂmm|
et 21 |

et &
{a) faARE 79 (b) T o
(c) == fow (&) rfm ot

Ans : (¢) T57F T TISE 39 Al UA® WA & 94 998
T =W i @ T
57.

H2TEl § WEe & fo0 9 WEN g ...

afidtsn o= 1 £

(a) FRE] (b) EPTERE

(c) WA (d) =
Ans : (b) 31 T, 2015 F1 707 FAT (Ministry ol'l
Shiping) M AFTEEn il 1 #R 9ma § digE
mﬂﬁﬂﬂﬁﬁi.ﬁlﬁﬁﬂam#rﬂinﬂj
H e T |

58. mi._mﬁmmmtmi
WIS AT £
{a) 24 7T (b) 28 T
(c) 23 F==d (d) & =+

Ans : (b) 74 dwfE @4 o o oW e @
a9 & 1930 7 wifs Fae = FEe e v el
wmlmm%mﬂiaﬁgl{;F%mﬁHi
ffg 28 =l & sl o Rem Ree F &9 4
T FHT £

59, swmdrT ¥ fEee ® 10000 TH TS I

TEH FeeraTa i 47
(a) fafems fasm (b) FE AR
(c) afFa Fg (d) Fia T

A F e dEemE W st e

|| % T ve § smEte v e e 3eee

Ans : (d) TIE TR 2% 582 € 10,000 @ R
|méwsﬁmi|3=ﬁiwmaﬁ 1987 # WA
6 M | @ #= T f aEies = (93 4§
|Eﬂ311maim11r{mmﬁxmm
e TN ° 2 AW O TEis W eH o e G
* g Bz Raerdl af dgEe (15,921 ™) & AW
& T Ffew & FAW @ 9 (13,378 W)
T == W

60. FATUEAT 2011 F FAEW, FrofeiEs @ 7 A

1 F T ST TG T ATEET ST e 27
{a) fr=rm (b} FETEA =T
(c) TafFm (d) FH-FTER

g.s.m:{e}a&mn F FOWE & FEE T 5 TEE
iﬂﬂﬁﬁﬂﬂlﬁuﬁfaﬁlm_@rﬁqﬁlﬁ%l
forwen < fieim < seviea w3 < i < e

61. WA ¥ fEwa w=feT mém gan faaw & =
o wTET = &7
(a) = AT (b) W fEw
(c) TR FERE (d) T wen fafem

Ans : (a) T fEERT F ST 12 S0 & |
1984 ¥ 59% T T @ A F ®9 4 W 3w
21 =l AEEE= = 99 12 990 1863 d FaeE 3
% FeF Wan ¥ g A fEwee 3 O T
W AT § ARETH A & gad 41 1893 £ F

i = = T R = wAeen e o g
Iﬂ??ﬂm#mﬁﬂmi&ﬂtmﬂ
T iy e i, e viE 3Ry e @

wmmlmm#ﬁwm ﬂﬂﬁﬁiw
Hﬁﬂf@l
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